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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-At the party, when everyone was looking for their coats, I quickly spotted ... on the rack near the
door and grabbed it before anyone else could.

1) me 2) that of mine 3) my one 4) mine

2-The first presentation was more detailed and informative than ... following, which lacked key
information and clarity.

1) that was 2) the one 3) that of 4) what

3-She finished the project ahead of schedule, ... the rest of the team, who worked efficiently and
cooperatively.

1) as did 2) so did 3)as 4) so

4-There was a serene calmness in the forest, although the distant rumble of thunder hinted at the
impending storm and the wild, ...?

1) wasn’t it 2) wasn’t there 3) doesn’t it 4) didn’t there

5-If a company does not comply with health and safety laws, it will be fined very heavily should any of
its workers get injured, ...?

1) does it 2) shouldn’t it 3) won’t it 4) was it
6-Most patients have no trouble identifying the clinic’s approaches to treatment from ... .

1) that of other healthcare providers’ 2) the ones of other healthcare providers
3) other healthcare providers’ 4) other healthcare providers

7-They tried to solve the problem quickly, but no one had the right answer, and ... .

1) I didn’t either 2) so did I 3) I did too 4) neither I did

8-The social functioning of most voluntary groups depended on the existence of good relations and
shared interests among their members, ...?
1) didn’t it 2) didn’t they 3) haven’t they 4) doesn’t it
9-More than four-fifths of the Serbians are peasant farmers, and the great majority of them cultivate
the land belonging to their own families, ...?
1) haven’t they 2) don’t they 3) aren’t they 4) hadn’t they
10-By the time she arrives at the station, he will have scarcely finished packing his bags, and rushed to
catch the train before it departs for their destination, ...?
1) does it 2) won’t he 3) doesn’t she 4) will he
11-A: “Although I have been working as a sales representative for twenty-five years, I have
accomplished very few things, which really makes my heart sink.”
B: “....”
1) So have I 2) Neither have I 3) So I have 4) Neither I have
12-Her performances were more captivating than ..., drawing audiences in with an energy and passion
that left a lasting impression on everyone.
1) that of her peers 2) the performances of peers
3) peers’ performances 4) those of her peers
13-1 read fewer books than ... during my college years, when I eagerly devoured novels and academic
texts every spare moment I had.
1) I had done 2) I did read them 3) read 4)1did
14-Let’s strive continuously toward achieving excellence by setting high standards while supporting each
other throughout challenges faced along this journey together, ...?

1) could we 2) shall we 3) don’t we 4) are we
15-1 believe that we will be able to meet our deadlines if we stay focused and organized, ...?
1)don’tl 2) don’t we 3) shouldn’t I 4) won’t we
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Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

16-The increasing pollution poses a significant threat ... marine life, which is already struggling to
survive in polluted waters.

1) for 2) to 3) toward 4) on
17-The new policy is beneficial in ... of reducing costs, but it may affect employee morale negatively.
1) honors 2) terms 3) events 4) needs
18-Amanda is a/an ... friend who always supports me when I need help, no matter the situation.
1) sensitive 2) diligent 3) reliable 4) ambitious
19-The conference attracted a ... of experts from around the world, each offering unique insights on the topic.
1) host 2) bit 3) stack 4) heap

20-She decided to ... an effort to improve her public speaking skills by attending workshops and
practicing regularly.
1) create 2) hold 3) make 4) show
21-Pablo Picasso’s ... style, characterized by bold colors and abstract shapes, has garnered a significant
following among contemporary art enthusiasts worldwide.
1) obsolete 2) delighted 3) distinct 4) sorrowful
22-Critics argued that the film’s plot was ... flawed, as it relied heavily on clichés and lacked character
development that would engage viewers meaningfully.
1) fatally 2) detrimentally 3) exceptionally 4) effectually
23-One of the trickiest things about shopping for sneakers is finding one that fits really well, as size tends
to vary ... brands and styles.
1) against 2) above 3) beside 4) across
24-The pursuit of a ... passion, whether it be art, music, or any other endeavor, can bring immense joy,
fulfillment, and a sense of purpose to one's life.
1) cynical 2) lifelong 3) comprehensive 4) sincere
25-Almost any fatty ... can be employed in soap-making; but the choice is naturally restricted by the
price of the fat and also the quality of the soap desired.
1) glance 2) substance 3) attempt 4) equipment
26-The major planets all move around the sun in the same direction, from west to east, in orbits but a
little ... to each other.
1) ancient 2) inclined 3) cryptic 4) evasive
27-Passing a written exam is typically necessary for individuals to ... a driver’s license, as it evaluates
their understanding of traffic laws, road signs, and driving regulations.
1) elicit 2) obtain 3) generate 4) evolve
28-The ... care that the nurse showed for her patients was evident in the way she listened attentively to
their concerns.
1) genuine 2) arrogant 3) insincere 4) awkward
29-The company’s new business model represented a ... departure from industry norms, positioning it
as a disruptor in the market and garnering significant attention from investors.
1) consistent 2) radical 3) dominant 4) periodic
30-The investigative journalist traveled to the far corners of the globe, risking her life to ... down the
truth behind the international conspiracy that threatened global security.
1) count 2) boil 3) hunt 4) settle
31-The court issued a notice requiring the defendant to show ... as to why the restraining order should
not be granted.
1) face 2) cause 3) mercy 4) determination
32-The artist aimed not only to create visually appealing pieces, but also to subtly ... deeper meanings
within her work through symbolism.
1) imitate 2) underline 3) proceed 4) secure
33-The detective had all the pieces of the puzzle, but he ... when trying to connect the dots between two
key witnesses, causing a delay in solving the case.
1) tripped up 2) came to 3) tuned in 4) knuckled down
34- As the train sped through the countryside, Tom sat in a ... mood by the window, wondering if he had
made the right decision to drop out of college.

1) defiant 2) jolly 3) pensive 4) secure
35-Much to their ..., the students discovered that the exam was far more difficult than the practice tests
they had been given.
1) paucity 2) exhortation 3) assent 4) chagrin
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Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.

36-
1) Cystic fibrosis is a genetic disease that causes sticky, thick mucus to build up in your organs, blocking
and damaging them.
2) Cystic fibrosis is a genetic disease which caused by sticky, thick mucus to build up in your organs,
blocking and damaging them.
3) Cystic fibrosis is a genetic disease that given it causes sticky, thick mucus to build up in your organs,
blocking and damaging them.
4) Cystic fibrosis is a genetic disease which causing to sticky, thick mucus to build up in your organs,
blocking and damaging them.
37-
1) Modern papermaking by beginning in the early 19th century in Europe with the development of the
Fourdrinier machine.
2) Modern papermaking began in the early 19th century when Europe with the development of the
Fourdrinier machine.
3) Modern papermaking had begun in the early 19th century that in Europe with the development of the
Fourdrinier machine.
4) Modern papermaking began in the early 19th century in Europe with the development of the Fourdrinier
machine.
38-
1) If the dog didn’t bark, we would haven’t known there was someone in the garden.
2) If the dog hadn’t barked, we wouldn’t known there was someone in the garden.
3) If the dog didn’t bark, we haven’t known there was someone in the garden.
4) If the dog hadn’t barked, we wouldn’t have known there was someone in the garden.
1) To have studied for several hours, the exam seemed fewer frightening to her, and gave her a sense of confidence.
2) Because she had studied for several hours, the exam seemed less frightening to her, which gave her a
sense of confidence.
3) Have studied for several hours, the exam seemed fewer frightening to her that it gave her a sense of confidence.
4) By having studied for several hours, the exam seemed to her less frightening to give her a sense of confidence.
1) Only after finishing her homework did she allow herself to watch television, knowing that it was
important to complete her tasks first.
2) That she knew it was important to first complete her tasks only after finishing her homework to allow
herself to watch television.
3) To first complete her tasks after only finishing her homework that she did allow herself to watch
television, knowing that it was important.
4) She did allow herself to watch television only after her finished the homework, knowing that it was the
important tasks to complete first.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Hey Sarah! how’s the new business going?

B: It’s coming along! I’m trying to ...(41)... in the sustainable packaging market. There’s a lot of
competition, but I think there’s room for something unique.

A: That’s great. Starting small is key. Have you been able to get your ...(42)... in the door with any
big clients yet?

B: I actually just signed a deal with a local food chain! It’s a small order, but it’s a start. Hopefully,
it’ll open up more opportunities.

A: That’s awesome! I’ve always thought you’d do well in business. You’re such a ...(43).., and that
really helps when building relationships with clients.

B: Thanks, Ella! I’m just trying to make a good impression and let the product speak for itself.

41-1) promise jam tomorrow 2) clutch at straws
3) carve out a niche 4) get in shape

42-1) body 2) leg
3) hand 4) foot

43-1) night owl 2) people person
3) cold fish 4) sacred cow

A: Dad’s illness turned out to be a ...(44)...; it brought the family together for the first time in years.

B: They say every cloud has a ...(45)... .

A: He also found out his painting talent. And contrary to all expectations, he announced that he
wouldn’t go back to work anymore!

B: In spite of his illness, he’s unshaken and still making decisions! I thought his life will turn upside down.

A: At least he’s been able to get over it.
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44-1) rip-off 2) blessing in disguise

3) feather in his cap 4) bed of roses
45-1) tall order 2) fly in the ointment

3) silver lining 4) storm on the horizon

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.
Climate change is one of the most pressing challenges of the twenty-first century. The scientific
consensus is clear: human activities, particularly the burning of fossil fuels and deforestation,
...(46)... an unprecedented rise in global temperatures. These changes are already evident in
extreme weather events, rising sea levels, and disruptions to ecosystems ...(47)... biodiversity. The
implications of these shifts are ...(48)..., affecting everything from agriculture to urban
infrastructure to public health. While there are significant efforts to mitigate and adapt to climate
change, the reality is that many regions are not prepared for the scale of the challenges ...(49)... .
Some governments have implemented ambitious policies to reduce greenhouse gas emissions, while
others are still ...(50)... or have rolled back climate-related regulations.

The discourse surrounding climate change is also multifaceted, involving scientific, political,
economic, and ethical considerations. This review will focus on two main perspectives:
environmental and policy-driven. ...(51)... the physical and ecological evidence of climate change,
seeking to understand its causes, effects, and potential trajectories. The latter focuses on the
measures ...(52)... taken—or not taken—by governments, corporations, and individuals to address
the crisis. In an ideal scenario, scientific understanding should guide policy development, and
effective policies should, ...(53)..., bolster the scientific efforts to combat climate change. However,
the relationship between the two is often complicated by political interests, economic pressures,
and social factors, ...(54)... that resists easy solutions. The way climate change is communicated and
debated in public forums further ...(55)... these challenges.

46-1) and driving 2) are driving 3) driving 4) has driven
47-1) that threaten 2) threaten 3) to threatening 4) where threatens
48-1) perfunctory 2) adjacent 3) sparse 4) profound
49-1) instead 2) ahead 3) away 4) front
50-1) contemporary 2) reminiscent 3) replete 4) hesitant
51-1) The former examination 2) Examined formerly

3) It examines formerly 4) The former examines
52-1) being 2) are 3) have 4) been
53-1) in advance 2) in turn 3) as such 4) by heart
54-1) it makes a complex issue 2) a complex issue makes

3) making it a complex issue 4) made an issue so complex
55-1) survives 2) exacerbates 3) violates 4) confronts

Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions

about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The changing profile of a city in the United States is apparent in the shifting definitions used by the
United States Bureau of the Census. In 1870, the census officially distinguished the nation’s
“urban” from its “rural” population for the first time. “Urban population” was defined as persons
living in towns of 8,000 inhabitants or more. However, after 1900, it meant persons living in
incorporated places having 2,500 or more inhabitants.

Then, in 1950, the Census Bureau radically changed its definition of “urban” to account for the
new vagueness of city boundaries. In addition to persons living in incorporated units of 2,500 or
more, the census now included those who lived in unincorporated units of that size, as well as all
persons living in the densely settled urban fringe, including both incorporated and unincorporated
areas located around cities of 50,000 inhabitants or more. Each such unit, conceived as an
integrated economic and social unit with a large population nucleus, was named a Standard
Metropolitan Statistical Area (SMSA).

Each SMSA would contain at least (a) one central city with 50,000 inhabitants or more, or (b)
two cities with shared boundaries that constitute, for general economic and social purposes, a
single community with a combined population of at least 50,000, the smaller of which must have a
population of at least 15,000. Such an area includes the county in which the central city is located,
along with adjacent counties that are considered metropolitan in character and are economically
and socially integrated with the central city’s county. By 1970, approximately two-thirds of the
population of the United States resided in these urbanized areas, and of that total, more than half
lived outside the central cities.
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While the Census Bureau and the United States government used the term SMSA (by 1969
there were 233 of them), social scientists were also using new terms to describe the elusive, vaguely
defined areas reaching out from what used to be simple “towns” and “cities.” A host of terms came
into use: “metropolitan regions,” “polynucleated population groups,” “conurbations,”
“metropolitan clusters,” “megalopolises,” and so on.

56-What does the passage mainly discuss?
1) How cities in tEe United States began and developed
2) Solutions to overcrowding in cities
3) The changing definition of an urban area
4) How the United States Census Bureau conducts a census
57-According to the passage, the population of the United States was first classified as rural or urban in ....
1) 1870 2) 1900 3) 1950 4) 1970
58- According to the passage, why did the Census Bureau revise the definition of urban in 1950?
1) City borders had become less distinct.
2) Cities had undergone radical social change.
3) Elected officials could not agree on an acceptable definition.
4) New businesses had relocated to larger cities.
59-Which of the following is NOT true of an SMSA?

1) It has a population of at least 50,000. 2) It can include a city’s outlying regions.

3) It can include unincorporated regions. 4) It consists of two cities with at least 15,000 inhabitants.
60-By 1970, what proportion of the population in the United States did NOT live in an SMSA?

1) 3/4 2)2/3 3)172 4H1/3

PASSAGE 2:

The enduring debate concerning the relative contributions of nature and nurture to personality
development remains a central and complex issue in psychological research. Early behaviorist
perspectives emphasized environmental factors and ignored innate predispositions. In other words,
the former was prioritized while the latter was largely dismissed. [1] This proved increasingly
difficult to reconcile with evidence suggesting a strong hereditary component in personality traits.
Subsequent research using twin and adoption studies, and advanced genetic analyses,
demonstrated significant heritability for key personality dimensions. This led to a more nuanced
understanding recognizing a complex interplay between genes and experience, where genetic
predispositions significantly influence how individuals respond to and interact with their
environments. Contemporary perspectives now acknowledge this intricate bidirectional
relationship, recognizing that neither nature nor nurture alone can fully explain the development
of personality. [2]

The emerging field of epigenetics offers a powerful framework for understanding this complex
interaction. Epigenetics demonstrates how environmental factors can modify gene expression
without altering the underlying DNA sequence itself. [3] This means that experiences—ranging
from early childhood trauma to chronic stress, nutritional deficiencies, and even social
interactions—can literally alter how genes are 'read" and translated into observable traits,
including various aspects of personality. These epigenetic modifications can be passed down across
generations. The mechanisms of epigenetic change, such as DNA methylation and histone
modification, provide a biological basis for understanding how experiences can leave lasting marks
on our genetic expression, influencing not only our present selves but also potentially impacting the
characteristics of future generations.

The ongoing interplay between genetic inheritance and environmental experience, illuminated by
epigenetics, reveals a far more nuanced and dynamic picture of personality development than
previously understood. This complex interplay necessitates a holistic approach that moves beyond
simplistic nature versus nurture debates, acknowledging the continuous and bidirectional influence
of both factors throughout the entire lifespan. [4]

61-The phrase “the former” in paragraph 1 refers to ... ?
1) Innate predispositions 2) Environmental factors
3) Hereditary component 4) Personality traits
62-Why does the author state that “neither nature nor nurture alone can fully explain the development
of personality.” in paragraph 1?
1) To illustrate the bidirectional interaction of genes and environment.
2) To promote further research into purely genetic influences on personality.
3) To argue for a complete rejection of genetic factors in personality development.
4) To emphasize the importance of early childhood experiences above all else.
63-Which of the following techniques is used by the author in paragraph 2?
1) Argumentative refutation 2) Statistical modeling
3) Conceptual explanation 4) Meta-analysis summary
64- According to the passage, which of the following statements is TRUE?
1) DNA methylation and histone modification demonstrate that while experiences can affect gene
expression, these effects are generally short-lived.
2) Traits like personality can be affected by inherited epigenetic changes resulting from environmental
factors such as trauma or nutrition.
3) Understanding personality development requires focusing on either genetic predispositions or
environmental factors, as their interaction is negligible.
4) Epigenetics shows that changes in DNA sequence are the primary driver of gene expression, overriding
any environmental effects.
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65-In which position marked by [1], [2], [3], or [4] can the following sentence best be inserted into the passage?

“Further research into epigenetic mechanisms holds immense promise for advancing our
understanding of individual differences and informing more effective interventions aimed at
promoting mental health and well-being.”

D[1] 2)[2] 3) 3] 4) [4]

PASSAGE 3:
Among the poetry embedded within The Lord of the Rings series, one of the most evocative is the
“Lament for Boromir,” recited in The Two Towers as the surviving members of the Fellowship
mourn their fallen companion. The lament is neither simply a funeral song nor merely descriptive;
rather, it transforms the act of mourning into a journey, allowing the natural world to echo the loss of
a noble figure and carry his memory into myth. The poem’s structure itself mirrors a solemn
procession. Divided into three parts, each voice—Aragorn, Legolas, and Gimli—marks a distinct
geographical realm as the spirit of Boromir symbolically travels the waterways of Middle-earth.
Aragorn speaks of the “loud water” of the mighty Rauros Falls, where Boromir’s body was set adrift.
Legolas, turning to the forests of the Elves, evokes images of tall trees and whispering winds, their
branches singing in grief. Gimli, finally, speaks of the sea, a place both final and mysterious, where
Boromir’s memory might find its ultimate rest. These stanzas are united by the repeated refrain:
“The winds were roaring, the white foam flying.” Its rhythmic echo suggests motion, continuity, and
an inexorable passage of time, as if the very earth and water grieve alongside the living.

The poem’s language is remarkably restrained yet deeply resonant. Descriptive phrases such as
“his helm of gold” and “the sunken sun” provide fleeting, gilded glimpses of Boromir, suspending
him between the heroism of his deeds and the quiet stillness of death. Nature, in this lament, is not
a passive backdrop but an active participant in mourning; the “loud water” sings, the reeds
whisper, and the wind roars in chorus with human grief. Such natural imagery reflects a romantic
sensibility, where landscape and emotion are inseparable, and the elements become witnesses to
both mortality and memory. Yet the lament transcends its immediate function as a song of grief.
By weaving it into the narrative, the poem elevates Boromir beyond the confines of his mortal fall,
mythologizing his departure. He becomes not just a man of Gondor, but a figure of legend, carried
on rivers that blur the line between history and memory. It is a brief yet powerful portrayal of
sorrow, where words, water, and wind converge into an elegy that moves both the characters and
the readers.

66-The underlined phrase “set adrift” in paragraph 1 is closest in meaning to ... .

1) released 2) bound 3) anchored 4) destroyed
67-Which of the following lines could most likely be part of the “Lament for Boromir” based on the
passage?

1) “The stars are in blossom, the moon is in flower, and bright are the windows of night in her tower”

2) “O spring-time and summer-time, and spring again after!”

3) “O! Wanderers in the shadowed land. Despair not! For though dark they stand,”

4) “His cloven shield, his broken sword, they to the water brought.”

68- According to the passage, which of the following statements is NOT true?

1) The recurring refrain, “The winds were roaring, the white foam flying,” evokes a feeling of constant
motion and the unstoppable flow of time, implying that nature itself joins in the mourning of Boromir.

2) The lament focuses on conveying the immediate sorrow felt by Boromir’s companions, while
simultaneously attempting to elevate him into a figure he never truly was, using its narrative and vivid
imagery to do so.

3) Boromir’s body is symbolically transported through various regions of Middle-earth, with each voice—
Aragorn, Legolas, and Gimli—describing a specific geographical realm, each one intricately linked to
his memory, legacy, and the lasting impact of his life.

4) The winds roar, the reeds gently whisper, and the waters flow, each of them participating in the
mourning process, highlighting the profound connection between the landscape and human emotions,
where both seem to grieve in unison.

69-The passage provides sufficient information to answer which of the following questions?

1) How was the death of Boromir depicted within the context of The Lord of the Rings series?

2) How does Legolas respond to the natural landscapes when he mourns Boromir’s death?

3) In what way does the poem’s structure reflect the traditional funeral songs of ancient cultures?

4) What role does Boromir’s death play in Gimli’s individual character development?

70-Which of the following statements CANNOT be inferred from the passage?

1) Boromir's transformation from a man of Gondor to a legendary figure suggests that his memory and
actions will transcend time, evolving into myth as his story is passed down through generations.

2) The use of descriptive phrases like “his helm of gold” and “the sunken sun” suggests that Boromir’s
legacy is preserved in the tension between his heroic actions and the inevitable stillness of death.

3) Aragorn’s mention of the “loud water” suggests that Boromir’s death is a personal loss which could
have been avoided through the forces of nature.

4) Gimli’s reference to the sea as “final and mysterious” implies that Boromir’s death, though tragic, is part
of a greater, unknown cycle, symbolizing both an end and a transformation.
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